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“l . (2043) A decision maker has to allocate his initial wealth w,> 0 between two assets. One asset is risk free
and pays a certain return of 1 for every dollar invested. The other is risky; its return per dollar invested is
given by the random variable r which takes on two values, i.e. either values # or X, Let a€[0, 1] be the
fraction of wealth invested in the risky asset. So future wealth is w = (1 — a)w,+ aw.r. Consider the decision
maker is a von-Neumann Morgenstern expected utility maximizer with payoff function for future wealth
U(w). Assume that 2’ (w) > 0 and »”(w) < 0 for all w. What kind of condition(s) for the expected return of the

risky asset do we need, i.e. E(r), in order to obtain a positive value of the optimal choice of a?
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. (304) Anindividual has the utility funciief™T/(He)s=hc. (h: leisure, c: consumption; P, = $1). There are
24 hours in a day, and w = $1 is the market Wage rate per.hour. Non-earned income is $10. Please compute
the compensating variation (CV) and equivalent variation (EV ) to the individual for each of the following

government policies.

(1) The government decides to imposé an income tax on both the wage income and the non-earned
income. The income tax rate is 50%. (10 43)

(2) The government decides to impose a minimum hourly wage as $2 per hour only for the first 3 hours
worked. (1043)

(3) The government decides to impose a minimum work-hour requitement as 8 hours per day, i.e. the
individual has to work at least 8 hours a day. (1043 )
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(3) 472F Lerner index ? 23U L T4 AT 2R FTHURIEE TH T > 45 Kt Lerner index
e - (99)

4. (25%) 2THTHEnREAIEHEE > B ZRHHRIAFZHT
TC(q) = F +cq +dq*
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(1) 473§ minimum efficient scale (MES) ? MK & MBIz MES t9@ %17 ? (84)
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(3) ZRMETREHTE  EEBHET kP TG T AREEREA? (95)
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